I fireray

0893

Surface Mount Alignment Bracket

Fireray” 50/1 00RU
mounted on bracket

Assembly

LED LAMPS AT
THE BOTTOM.

)ffe

FFE Ltd

FIXINGS _|
NOT
SUPPLIED

T

8

Prism mounted
on bracket

1455 Jamike Ave Ste 200, Erlanger

Ky 41018-3147 USA

t 940 271 0435
f 972534 1526

e america@ffeuk.com

w www.ffeuk.com

Formerly known as Fire Fighting Enterprises Ltd

:

9

(o)

Assembly Instruction Sheet

e —_
Specification Dimensions
» Weight: 2.25 Ibs. ==
® 45 degree tilt angle
Ll
a
]
z
2
N~
@ ' ’
3.70
5.12
N
= +—- g —¢—
D L
Parts
e . Item Part Qty.
1 | Front Bracket 1
S 2 | Rear Bracket 1
iwes 3 | T-Handle M6 x 20 2
PPLIED 4 | M6 Shakeproof Washer 2
5 | Smoke Detector (not included)
6 | M5 Nyloc Nut
7 | M5 Plain Washer
8 | Reflector (not included)
9 | M3x 12 Screw 2
10 | M3 Shakeproof Washer 2
11 | M3 Nut 2

Specifications and wiring information are provided for information only and are believed to be
accurate. FFE Ltd assumes no responsibility for their use. Data and design are subject to change
without notice. Installation and wiring instructions are shipped with the products and should always
be used for actual installation. For more information, contact your Sales Representative.

Document Part No: 24-0023-03

www.ffeuk.com



